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Note . First 15 minutes are allotted. for the candidates to read the

question paper.
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Instructions :

i) Al questions are compulsory.

ii) Question Nos. 1 to 10 are Multiple Choice Type. Question Nos. 11
to 20 are Very Short Answer Type, which are to be answered within
30 words each. Question Nos. 21 to 26 are Short Answer Type,
which are to be answered within 100 words each and Question
Nos. 27 to 30 are Long Answer Type, which are to be solved.

iijj Marks to each question are indicated against it.
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( Multiple Choice Type Questions )
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Select the correct answer and write it in

3

_ your answer-book -
Receipts and Payments Account is

i) Real Account i)  Nominal Account
iii)

iv) None of these.
Income and Expenditure Account is prepared by

i) Sole Trading Organisation
1ii) Partnership Organisation
Revaluation Account is

Personal Account

i) Company Organisation
iv) None of these.

1) Personal Account
it}  Nominal Account
Reduction in liability is
i) Loss

lii) Receipts

i) Real Account
iv) None of these.

i)  Profit
iv) Expenditure.’
Partnership Account was enforced in

i) 1956 i) 1948
i) 1932 iv) 1950.
Loan taken for specific purpose will be shown in
i) Income and Expenditure Account

11)  Liability side of Balance sheet
iii)  Asset side of Balance sheet
iv] Both sides of Balance sheet

Shareholders of a company are
i) Customers of the company i) Creditors of the company

iiij Employees of the company iv) Owners of the company.
Which of the following is not current liability ?

i) Bills payable ii} - Bank overdraft

iii) Share capital iv) Outstanding expenses.
111

Features of a company are |

1) Artificial person iij Created by law

iii) Perpetual succession iv) All of these

The maximum number of members of a private company is
€ m .

_ 100 i) 150

1)) 0 v) 140.

iii
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q ( Very Short Answer Type Questions )
11, 379-557 @I & LU ! GHART |

11. Explain the objectives of Income and Expenditure Account. j
12, WERN Tol@ S §RY |

12. Explain Pa;'tner‘ship deed.

13. IO W A I AT A Hi fwdt e fafy w argmee |

| !

13. Explain any one method of calculation of interest on drawings.

14, WRER oo S H 3R SqRy |

14. State the differences between partnership and company.

15. Vg Wae faeror @ =1 s & 7

2
2
2
.2
2
2
15. What is meant by Cash Flow Statement ? 2
16. FA % fog % fae vt & IR 58} $ 4R | | - 2
16. State four items of liabilities shown in th-e balance sheet of a company. 2
2
2
2
Q'f
2
2
2
2

17. WMY-81H @ @ og-g1i faee @ § =R @ st

17. Distin'guish between P & L Account and P & L Appropriation Account.
18. 33 & TWOT | 37T 1 §HHA ¢ ?

18. What do you understand by forfeiture of shares ?
19. foramr gt @y wd onivT ® oR AR |

'19. State differences between divisible profit and dividend.

20. wrg-gifT fEisH @ J R ST arell 731 S 90 ST |

20. Describe the items shown in Profit and Loss Appropriation A-ccount.

( Y I W )
( Short Answer Type Questions )

21. STH YT @I 3R UHg G § 3 W HIWY | 5

21. Explain the difference between Income and Expcnditﬁre Account and Cash
Account. 5

02, 3 Y & MR W @A F e e # faf B R/ewor wheg wwemw 00 5

n9. Explain the method of calculation of goodwill on the basis of average

proﬁt. o
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13, TETHET 3T & Wehrl i ferererr I |
p3. Discuss the types of preference shares.

04, fodia faenoll & favetor & Hee &1 aviA &IWT |

n4. Describe the significance of analysis of financial statements.

05, FHA HI TG AR H FEEE |

25. Explain the characteristics of a company.
26. HEE U WG | ag g 3faa gue € SR b 2

. 26. Whom do you consider suitable between company and partnership and

why ?

( farga T we )

( Long Answer Type Questions ) |

27. 31 @R, 2022 B T @ At FrfafEd dee T I YIS % SR W
TRV Thel 1 A Wi el A (gl 9y

o "y A THT LEx
( %o ) (%2 )
BCE| 6,25,000 | &1 IR 12,500
HATER .| 1,00,000 | =FF w1 W= 5,00,000
T H el 1,50,000 | 97 & fAW s_R 15,000
12%&?@1%%?1111 "5,00,000 | @ % BT & TR 10,000
L) 5,00,000 | fataw wiftast 30,000
Y 40,000 | TR} 3FREH 3,50,000
| e = 18,000 | A fAfir 10,00,000
A = 15,000 | o Tt Tt % |
3% o U 50,000 |  fow aFRM 62,500
T UFS 2,000 | A SR =1 fasra 20,000
i 20,00,000 20,00,000
Afafes qamﬁ :

i) @Y & fAU awrE w To 25,000.
ii)  FHET SFF 1 T Fe 30,000.
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iiil) 1 3R, 2021 H Fo 40,000 I T HT A FHF [HAT |
iv) 137, 2021 F Bo 50,000 T&i ¢4 3 et 1 fosral fopar |
V)  EHAR W 10% W 5, Qe s W 15% W a9 S Ha W© 5% Hh

Y B TR | - 5+_5
-

FETHHR HEASA F ST 1 Grigwe § 2 37940 @ T SR F T AT S

72 : , | 3+7

27. On the basis of the folIoﬁing Trial Balance and other information of
Mahesh School for the year ended on 31st December, 2022, prepare

Income and Expenditure Account and Balance sheet :

Debit Balanée | Amount ‘Credit Balance Arﬁount
| (Rs. ) | | j{R&)
Building | 6,25,000 | Entrance fees | 12,500 |
Furniture. " 1,00,000 | Tuition fees received 5,00,000
Library books 1,50,000 | Creditors for sﬁppliés 15,000
Investment @ 12% 5,00,000 | Rent fc_r,the_school hall 10,000
Salaries . 5,00,000 | Miscellaneous receipts 30,000
Stationery 40,000 | Government grants 3,50,000
General expenses 18,000 | General fund 10,00,000
Sports expenses 15,000 | Donation for library books 62,500
Cash at bank 50,000 | Sale of old furniture 20,000
Cash in hand 2,000 |
20,00,000 zm

Additional Information ;

ij ~ Outstanding fees of this year Rs. 25,000
i) Outstanding salaries Rg_ 30,000
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iy Furniture purchased of Rs. 40,000 on 1st October, 2021

iv) Furniture of book value Rs. 50,000 was sold on 1st April 2021

Charge depreciation on furniture @ 10% per year, 15%

per year on
library books, 5% per year on building.

S+5
OR
What do you understand by non-profitable organisations ? For what

purposes is income and €xpenditure account prepared ? 3+7
. Hiew Fh ffiree 9 %o 5,00 000 ® G & T Sl o mn St %o 10 Wiy

% W ¥ 50000 a9 F frw o | = @ T 40000 aivil w1 Frifia
ﬁmﬁﬁwa@mmﬁdﬂﬁw,mmmzsrﬁraiﬂ,ﬁwmmﬁw
uﬁraiwaarmzﬁaaq‘maiﬁrrmm%m} | T af A e e A e
YR W & lmt{%mﬁrmwsooeﬁ&.aﬁﬁnwm%ﬁ
T | AR 3 I S o R a9 To 6 o siw ¥ Fea 3
q: foifd & feanm o | 1
mﬁaﬁwﬁﬁﬁﬁa%wﬁ@ﬁ&m
mm@@mmﬁwwﬁmwmaﬁ%ﬁ&awﬁﬁ
AT | :

10

S+ 95
Rohit Company Limited was registered with the capital of Rs. 5,00,000

which was divisible @ Rs. 10 in 50000 shares. The company issued 40000

shares out of them, on which Rs. 2 per share on application, Rs. 2 per

28.

share on allotment, Rs. 4 per share on 1st call and Rs. 2 per share on final
call were payable. The public purchased all shares and the amounts were
received. However one shareholder who held 500 shares did not pay the

amount of final calls. The directors forfeited these shares and reissued
them @ Rs. 6 per share.

Pass necessary journal entries in the books of the company.

10

OR
Explain the differences between equity and preference shares and explain
different types of preference shares. 5+5
;f'11ﬂ077/733 [ Turn over
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29. E@ﬁw@ﬁS:Q%WﬁWWWW@W%‘I 1 &7
2021 F IR W fafr @ Wt F AU WERR ¥ w9 § yEw @ o e
1 a1, 2021 F1 T AT & 1 e fagr SR A T W FreAfened §

TSt ve T R rgtat H

( %o ) ' | (%o )
Tl @ e 4,53,000
T 3,00,000 EAER | 62,000
& . 3,00000 | 6,00,000 |3 84,000
AR 60,000 | TR — 36,000
e T - 15,000 | 7€ 40,000
6,75,000 . 6,75,000

A wt Frfafeas v §

) S H T SRR S S |

iy wF H YR o 6,00,000 FR¥ET w7 o, R T wEkRRt grr ey
T o fear s | |

iii) ot 3 & =t OGSt AR Efa S R T | 2w

iv) W F @ Ao AT F QA % W & SR W fwar s |
Hwﬁmﬁaﬂmwmﬁoéo,ooonﬁaﬁﬁlwwﬁﬁgﬁm
[HG & H R 10% ¢ |

mﬁfﬁmﬁmaﬁzW¢qﬁaﬁ,m@mmq§wmmm

T |
242+2+4

HOAT
wara & qeanA 1 fofw fafimgt @t emen | 10
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09, Aand B are partners sharing profits and losses in the ratio of 3 : 2, They

decided to admit C as a new partner on 1st April, 2021 from effective date,

On 1st April, 2021 the Balance sheet and terms of entries of A and B are

as follows :

Capital and Liabilities Amount Assets Amount
(Rs. ) {Rs. )
Capital A/c. ; Plant 4,53,000
A 3,00,000 - Furniture 62,000
B 3,00,000 6,00,000 | Stock ' 84,000
Creditors 60,000 | Debtors 36,000
 Outstanding expenses 15,000 | Cash 40,000
' B 6,75,000 6,75,000

The following are conditions of entries :

1)

i)

ii)

Explain different methods of valuation of goodwill.

The profit in future will be distributed equally.

The capital of the firm was determined Rs. 6,00,000 which will be
given in the profit ratio by the partners.

C will give the share of capital and goodwill in cash.

The valuation of goodwill will be done on the basis of over-value of

purchases of two years. The average net profit of the firm is

Rs. 90,000 per year. The nominal profit on capital is 10% in nominal
business,

Calculate goodwill and prepare capital account of partners, cash A/c

and balance sheet of the new firm. 2+2+2+14

OR

10
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' 0. #g To 2,10,00
whar o 60,000, g To 4,25,000, gt o 50,000, .

5 Do 2,00
S o 25,000, fafery SRR To 35,000, T FT T I 000, THE
0, sr-gifT @ (Fee) e 13, 500, 318K ¥o 50,00
dg= %o 1,00,000, g9 Go- 30,000,
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30. 31 T, 2021 & ¥4

|1 g 9 99 Bo 7,50

#vr ot Fo 1,00,000, HEH T
0 50.000, RHIAT To 6,000, TN To 30,000, FICH TIHIRT & 10,000 |

AT :
) TR W 5% Y FHO1 G T HIOT |
i) n?ﬁviﬁq?m%mm|

31 O, 2021 Sl Eaar H §od To 75,000 T |
W%ﬁ’ﬁo 10,000, Frmm%qm 15,000 aa‘rmaaﬁaﬂﬁrq I

iii)
iv)
IR G0l UF FHESAIST & SHR W ATS-g1 QAT ool STy-gl s g
=Y | ' 740
fercitar feraromt T fereetaor &1 & 7 $6h S2v4 Ue Hied &7 Sl FRTT | o 4+ 4 + 4

30. The following balances were received from the Books of Prayag Electronics

on 31st March, 2021 :
Stock Rs. 60,000, Sales Rs. 4.,25,000, Wages Rs. 50,000, Purchases Rs.
2,10,000, Salaries Rs. 25,000, Sgndry Creditors Rs. 35,000, Bad Debts
Rs. 3,000, Cash Rs. 2,000, Insurance and Genera Expenses Rs. 7,500,
Profit and Loss Account (Credit) Rs. 13 »900, Debtors Rs. 50,000,
Share Capital Rs. 1,00,000, Machine and Plant Rs., 1 ,00,000, Reserve
Rs. 30,000, Building Rs. 50,000, Rent Rs. 6,000, Investment Rs. 30,000,
Interim dividend Rs. 10,000,
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Adjustments :

1} Prepare provisions for Bad Debts on debtors‘@, 5%
1i)  Charge depreciation on machinery @ 10%
1) The value of stock on 31st Ma'rch, 2021 was Rs. 75,000
iv) Make provision of 'Rs. 10,000 for reserve and Rs. 15,000 for dividend.

On the basis of the above particulars and adjustments, prepare Profit and

Loss Account and Profit and Loss Appropriation Account. 7+3
OR

What is analysis of financial statement ? Describe its objectives and

limitations. ' 24+ 4+ 4

.J
|

|
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